

Reading and Writing numbers in scientific notation
A) 4.3 x 108 is the number 430 000 000
C) 6 400 000 is 6.4 x 106

B) 4.3 x 10-8 is the number 0.000 000 043
D) 0.000 006 4 is 6.4 x 10-6
The form in which these numbers are written is called scientific notation. Scientific notation is used to write either really large numbers or really small numbers. There are two basic parts to scientific notation. The first number you see in scientific notation is called the coefficient. In the two examples above, A and B, the coefficient is 4.3. Generally, the coefficient is a number greater than or equal to one and less than ten. 

(1> coefficient<10)

You will then always see a x10 term raised to some exponent. The exponent can be positive or negative.


Positive exponent – number will be larger than the coefficient.


Negative exponent – number will be smaller than the coefficient

Convert the following from scientific notation as was done in examples A & B:
1) 4.36 x 109 = 



4) 9.4 x 10-12 = 




2) 1.07 x 10-5 = 



5) 6.3 x 10-4 = 





3) 3 x 108 = 




6) 6.022 x 1023 = 
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Convert the following numbers into scientific notation as was done in examples C & D:

7) 0.000 004 6 = 



10) 120 000 000 000 = 



8) 120 000 000 = 



11) 0.000 003 42 = 




9) 678 000 = 




12) 0.000 000 000 14 = 




Multiply the following numbers in scientific notation:

13) (3 x 105)(2 x 106) = 


14) (5 x 103)(1 x 107) = 




15) (9 x 104)(2 x 108)= 


16) (7 x 104)(4 x 108)= 



17) (6 x 104)(4x 10-8)= 


18) (2.4 x 106)(5.4 x 10-3)= 



Divide the following numbers in scientific notation:

19) (9 x 1011)/(3 x 108)= 


20) (8 x 104)/(2 x 102)= 



21) (6 x 104)/(2 x 106)= 


22) (9 x 105)/(3 x 10-8)= 



23) (8.1 x 10-5)/(9 x 108)= 


24) (3.5 x 10-3)/(5 x 10-5)= 
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